1.) Execution of the transaction swi1 for the Workitem ID 4626526
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2.) Double clicking on the result row of the table (1) gives the result below:
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The work iten has the status executed and nust be set to the status
conpleted nanually. You now have the opportunity to add attachments and
objects to the work item and therefore to all subsequent steps in the
workflow

To complete the work item fully, choose Work item -> More functions -
Set to done in the work item display or in the workflow inbox choose
More functions -> Set to done
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3.) Inspecting the table SWWUSERWI gives the following result:
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4.) Detailed view of the Item 4626526 in the table SWWUSERWI
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I have the following questions:

(a) How is it possible that the Workitem 4626526 has the status “executed”, but at the same time is NOT shown in the table SWWUSERWI as irrelevant?
(b) Why should the status of the Work Item 4626526 be manually set to executed now that it has already been executed?
(c) Do you know the reason why the situation above has occurred?
